
Restar de Ceros (J)Halle cada diferencia.
100 1000 1000 100- 14 - 901 - 271 - 53

1000 1000 100 100- 214 - 428 - 53 - 79
1000 100 1000 100- 969 - 43 - 500 - 56

100 100 1000 100- 16 - 40 - 477 - 80
1000 100 1000 1000- 240 - 28 - 450 - 929

100 1000 100 1000- 2 - 704 - 51 - 723
100 1000 100 1000- 83 - 327 - 84 - 279
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Restar de Ceros (J) RespuestasHalle cada diferencia.
100 1000 1000 100- 14 - 901 - 271 - 5386 99 729 471000 1000 100 100- 214 - 428 - 53 - 79786 572 47 211000 100 1000 100- 969 - 43 - 500 - 5631 57 500 44100 100 1000 100- 16 - 40 - 477 - 8084 60 523 201000 100 1000 1000- 240 - 28 - 450 - 929760 72 550 71100 1000 100 1000- 2 - 704 - 51 - 72398 296 49 277100 1000 100 1000- 83 - 327 - 84 - 27917 673 16 721
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